RSHIR

20224

(F3Xef i

[EREm]

LA, Sub¥ h Tagd s,
2 BB, SRR B AN A F LA E AR (Y EEATTIRE, EES, A
WEAR T4, BikiLe

IR AL F LSS50
%k'b‘??&?’:
¥ F R A

120 o4F o

\

BHIESHE R

BEATT.

150 4~)

=%
RA#

BT E L,

3B AR, LA 0.5 ERBEATFE, FEERBELHEFTAENLE L,

4. FIJUHEER, AR Z
A. =3 Ff1+ (—3)
C. —7H1— (=D

4 BT A B LML T P, KA MK,
—. BEEE (F0E 45, £40)
[P v i = N L
A -3 B. —1 .0
2. W, W4 EER, HhRid bR
WIS B bR i) 2
+0.9¢g -3.6 g -0.8 g
& B G
3 ‘L‘I’ﬁ 2= 3”’]/[1
A. —5 B. —1 G

B. —5Hl— (+5)
D. +2 | —2|

CHEI8 - (+10) + (=7) — (—5) BEABING MR

A. 18-10-7-5

C. 18+ (-10) + (-7) +5

B. 18- 10=7+5
D. I8+10-7~3

. FHas b NEEE, Hab<0, WTFHXRT av b BIVIEERHRE
A. #RRGHL B. #EIEH G, ==

. FHFEIERR R
A. (—14)—5=—9 B. 0—(—3)=3

C. (—3)—(—3)=—6
. Hm|=5, |n|

A. 7

=2, Hwmn 35
B. 38k-3 6. 3

o)
D. —x|—-=|=1
4 3

s Wim - n|E N

tEZBFAZRE H4T (HF1]T)

1
D.?

+25¢g

D. H—IR%

D. 783

(

WU I e AU N IERL,. AN RAMESTR I e B0S 8L R E

)

9. TN B, L L, S A.B A HFERE a b, B atb=0, %5 AB=8, 15 4 FRRHIECHN ( )
A B
A. —4 B. 0 . 4 D. 8
10. o R 2 N, AT HoN o MI8AIEC. s wﬁWﬂwﬂ5%=-z-zW%
%@i%z(z)2,aﬂm=am%amm@ﬂﬁmm%amw@ﬂﬁmm%amW%ﬂﬁm
RBESEHE, W az05= ( )
1 4
A. 3 B: =—2 G 5 D. 5

Z. HBE (HA3H, £302)
1. R EF 15 Kidfe+15, IBa—9 FR

12. #£—(—2), +(+2), +(f%), —|—2pX A Eh, AEE

LSRN = 1_ 8 _9 L e
13. R =3 7% =5 8(i§<,k>ji ).
M.4%%m&ﬁ% ,EME, dati
15. it "1+(*3)x§:

16. fE¥UH B5 -3 MR ESSET 2 (R FR B0

17. % x BIMRER -3, V=5 Wx-yHtEh _

18. & X —FH s .

19. MEETHE—FIE, RIS HBE 1A
11 11

T2y
20. CLAEH B AL 4L B X RIS 5
N M B 5 LR 6 NS K EREE A e, BigA M. NRENER, 2

FoJa, M. N Z[BRBEES 2 AL

s T , #2022 MR

a®b=4a—ab, WM4D5=4x4-4x5=-4, MED2)S(-1)=

bag-by

Re—1 M2, MM A KGR 2 AN RALK B H R ) /2383,

=, BEE (%8045
21, W (BN 6 4y, 244

(1) (<2.5)-59 2) 15+(-8)-(-4-5

tEZHFAZKE H4TT (F2W)




55 oAb By TSy 5 paSe ki 25, (1249 76— URHUHOR T, WRIRCEE AR P A I R P 7 BT RO I, LR A 3
I HR, W LBk B M, AEERAESA, SROTEEEZMT CAB: TH):
+14,-9,+8,-7,+13,-6,+12,-5
(1) AT BT 4 HEIH A, B A HZHTK?
(2) EEAHGTREEIN 0.57F, WMAZAR ) 28 7, SRybEEA 4 KB ITRR E D E BT S
5Tl

(3) BoRidTES, WA A N A BOgA £ ?
22. (8 40 TFHIBHAEE N L3R ok, JHEEMTH < @ik,

— = (=330 O = T=2T, —%

23. (12 49) R B HUALER N 45 S B 26. (14 40) [FEZEATEANE,

4—(-2)| 3% 4 52 MZEMMRHE, SBR B ATEARR 4 55 —2 PIEER

~s14, 2, 3, W, 45, 11), 0, 7. L TSP 2 OB R [ — 3 L TR x 5 3 A Ml L LS A 2 O
. KRR

BHES: | vkl 1 2‘2|4—(—2)|:_

B EES: | m—

() #E|x-2|=5, MWx= ;

(3) [FIHE |x — 4| +|x+2| = 6 FRBch LA FRE x HIXT K 3] 4 -2 i B2 HPT A BE S 2 A, i
FEHES, | = R4k T S P x, A9 - ApH+2| =6, SXBEHHE R :

(4) 3R [x=3|+ e+ 1|+]x+ 5| HRAME, FFR LR x FI{E.

IEHHEHES: | s

24, (104») ¥ a, b, c FEHH ERIM B INEPTIR:
(D HBTES, A “>” 8 “<” #%: b—c__ 0, a+b__ 0, c-a__ 0.
(2) {kfEilc| —|a|+| —b| —| —al

b c a

tERZHFAZRE H£4T0 (HF3W) tEFBFAZIRE HAW (F41T)




